JEE CHAPTER-WISE TESTS

JEE MAIN : CHAPTER WISE TEST-3

SUBJECT :- MATHEMATICS
CLASS :- 11™
CHAPTER :- TRIGONOMETRY

(SECTION A)
1. If asin?x+bcos?x=c, bsiny+acos’y=d 9.
2
and atanx =btany,then 2—2 is equal to
(A) (b—c) (d-b) (B) (a-d)(c~-a)
(a-d)(c~a) (b—c) (d-b)
(d-a)(c—-a) (b—c) (b—d)
(C) (D)
(b—c) (d-b) (a-c) (a-d) 10.
2 cosA+cosBY' . sin A + sin B "(n even or
) sin A —sin B cosA—cosB
odd) =
(A) 2tan" 2B (B) 2cot" 2=8 1.
(C)1 (D) None of these
3. If sina=1/+5and sinp=3/5then -«
lies in the interval
(A) [0,7/2] (B) [x/2,37/4]
(C) (37 /4,x] (D) [#,57 /4]
12.
4. If 2sec 2a =tan B+ cot 8, then one of the
values of o + g is
A~ B) X
(A) 2 ®) %
(C) = (D) 27 13.
X Y _ z
> ! cos§ cos[@ —le cos[@ + 2—”] e
3 3
X+y+z= 14
(A) 1 (B) 0 '
(C) -1 (D) None of these
6. If sin66 =32cos® Osin6 — 32cos® Osind + 3x,
then x = 15.
(A) coso (B) cos 26
(C) sing (D) sin26
7. sin* Z 4 sin® 3—” +sin? 5—” +sin? 7—” =
4 8 8 16
1 1 3 3 ’
W ®; ©I OF
8. (1+cos£j(1+c053—”j(1+c055—ﬂ)(1+cos—) =
8 8
1 1
A) = B) =
OF ®)
1 1
C) = D) —
© 2 0
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If A lies in the third quadrant and
3tanA-4 =0, then 5sin2A+3sin A+ 4cosA =

(R)0 ®) =
24 48
© 2 o) %
J2 +4/3 +4/4 + 6 is equal to
1° N
(A) cot7? (B) sm7?
(C) sin15° (D) cos 15°

If tan(A+B)=p,tan(A-B)=q, then the
value of tan2A in terms of p and q is

(A) p+q (B) pP—q
P-q 1+pq
(C) p+q (D) 1+pg
1-pq 1-p

2sin? B +4 cos (a + ) sinasin B+ cos 2(a + ) =
(A) sin 2a (B) cos 2
(C) cos 2a (D) sin 23

The value of sing +cosd will be greatest
when

(A) 6 =30°
(C) 0 =60°

(B) 0 =45°
(D) 6 = 90°

If f(x)=cos? x+sec? x, then
(A) flx)<1 (B) flx) =

1
C)1<f(x)<2 (D) f(x)=2

\

t .
1anX \whenever defined
tan3x

The value of

never lie between
(A)1/3and 3
(C)1/5and 5

(B) 1/4 and 4
(D)5 and 6

cos 20 +2 cos is always

(A) Greater than —%
(B) Less than or equal to %

(C) Greater than or equal to —% and less

than or equal to 3
(D) None of these
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17. Let A, B and C are the angles of a plain

triangle and tané:l, tanE:z. Then
2 3 2 3
tan% is equal to
(A)7/9 (B) 2/9
(C)1/3 (D) 2/3
18. If A+B+C =7 and cosA = cosBcosC, then
tan B tanC is equal to
1
A) = B) 2
OF (B)
(©) 1 (D) -
2

19. If A+C =B, then tanAtanBtanC =
(A) tanAtanB +tanC
B) tanB-tanC - tan A

(B)
(C) tanA+tanC —tan B
(D) -(tan AtanB + tanC)

20. If <k, then

cos@{sin@ +4/sin? @ + sin® a}

the value of k is

(A) V1+cos® a (B) V1+sina

(C) V2 +sin®a (D) V2+cos? a

(SECTION B)

21. If sinA,cosA and tanA are in G.P., then
cos® A+cos? A is equal to

22, If sind +cos@ =1, then sinHcosh =

23. sin® 0 + cos® 0 + 3sin® O cos® O =

24, The value of 2(sin 0.+ cos® 6)- 3(sin* 0.+ cos? 0) + 1 IS
25. If y=(1+tanA)(l-tanB) where A—B:%,

then (y+1)*! is equal to
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cos12° —sin12° . sin147°
cos12°+sin12° cosld7°

26.

27. tan 20° tan 40° tan 60° tan 80° =

28. If cosA = % then 325in(%] sin(%] =

29. The maximum value of 3cos6 -4sind is

30. The maximum value of 4 sin? x + 3 cos? x is

A roz
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